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Kategorie D-10, H-10
Bahn Bahn 1, Lange 1,5 km
Start

1

2
3
<
5
2

101
102
103
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105

Weq, Vegetationsgrenze, Gabelung
Schneise, Vegetationsgrenze, Gabelung
Schneise, Vegetationsgrenze, Gabelung
Weg, Weg, Gabelung

Weq, Biegung

Weg, Schneise, Gabelung

80 m vom letzten Posten zum Ziel, keine Markierung

Kategorie D-12, H-12
Bahn Bahn 2, Lange 2,8 km
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1
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Weg, Vegetationsgrenze, Gabelung
Schneise, Vegetationsgrenze, Gabelung
Vegetationsgrenze, Nordost-Ecke
Senke

Waldecke, Sudost-Ecke

Lichtung, Westrand

Weg, Biegung

Kleine Senke

50 m vom letzten Posten zum Ziel, keine Markierung



